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B BoE LU I 2D
15 E&0~108) FE(11~208) TEQ21~%H) 2#E(AX48)
=84 B %% 1 %% 0 %% it L &%
tZh34 70 13.5 183 35.2 267 51.3 520 133 25.6
HfER IR b 35 4.6 292 38.3 435 57.1 762 191 25.1
Ho—=>1# 68 5.6 327 26.7 829 67.7 1,224 397 324
A= 142 14.7 298 30.8 529 54.6 969 280 289
iz B 2 32 8.5 124 32.8 222 58.7 378 108 28.6
RETIVX 24 8.3 90 31.0 176 60.7 290 91 314
H ZE RSt 28 14.1 /6 38.4 94 475 198 38 19.2
Wiz=% 8 5.8 35 255 94 68.6 137 44 321
BHikwys 49 18.0 77 28.3 146 53.7 272 78 28.7
RUAEE)T4HIE 72 15.6 125 27.1 264 57.3 461 116 25.2
Iz R /3L 38 18.8 61 30.2 103 51.0 202 49 24.3
WA A\ 7 10.8 25 385 33 50.8 65 18 27.7
AXE B 13 115 28 248 72 63.7 113 30 26.5
Wizt 0 0.0 6 26.1 17 73.9 23 7 30.4
Wizngy 91 19.7 113 245 257 55.7 461 107 23.2
PRIt HE 35 15.4 56 24.6 137 60.1 228 55 24.1
UDhZ v I X 14 20.9 17 2564 36 53.7 67 14 20.9
AFEZE 42 19.3 62 284 114 52.3 218 47 21.6
ZDAth 14 7.5 73 39.2 99 53.2 186 46 24.7
25t /82 11.5 2,068 30.5 3,924 57.9 6,774 1,849 27.3
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Rxvys 49 18.0 77 28.3 146 63.7 272 78 28.7
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L2 A /N)L 38 18.8 61 30.2 103 51.0 202 49 24.3
WA /Y 7 10.8 25 38.5 33 50.8 65 18 27.7
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Z0 14 15 /3 39.2 99 53.2 186 46 24.7
= /82 11.5 2,068 30.5 3,924 57.9 6,774 1,849 27.3




